DRI RIS LR 4 1 PP AR 1 KRR
E & =X

[EC a8 = —H7 ]

woums |SBRAIEE p. 1 @) 117H

e |, TR, 2,3 22T b3l TEEY H 30,
EENSE

e L, TEROEML, 2,30 TSN TEKBETLOILECEY &

B,

wuwerr |AERMEE p.1 | 2| (3) 19TH

| TROEHAREREFTH ORI TEEY & 5 D,
EENE

1E |, FREDRME4, DM &M= 6 OIT2E CE Y & 505,




3 52.26 EE i&\\ (~— )

2 ~—3

AEBRE Gk ) —3 - B
GEE) ﬁ%ii‘f’\"(ﬂﬂ#ﬁ:ﬁ%ﬁﬂ%&f?)%ﬁ;_C;ni‘:iﬁ-ii:%( Sk

PFOMc&2 k.

W [Fo+1] = (211 2leTsss omMETDE, 22T, [x] i 2 282 A BAOIHTH 5,

(2) A ABC &, MA+MB+£MC = 0 (k>0) &z 5 M HAET 5. S A &AM 2382 ERE0BC O%kss N &+

2. SBC=BNOEE, kil b,

4
(&) MEHEOBCD 2 EWHT (@} (0 =1, 2, 3, ) %, Wk 2t (1) ™ = 3000 (1=1, 2, 3, ) WL 10
Hrs, UFomicgz k. '
(1) {a.) oEEARZ RS L,
(6) St S, AT B0 5 DBk, IURT 2 a1, ofEFe L,

BERWAUHT 5 320ME, A, B, ChH), 3D0REORKIE LN WIAIAED X bbb Th B nAle LR
Sommﬁ%ﬁiuE%t&otﬁﬁmﬁﬁhﬁTﬁgtﬁmA&%mk?%(kzml,zmﬂ:m&%;UTmMmg
2k
1) n=10nrx, &= N1&D 20 My 1oy 15 DR (7105 yy 90, 112) A TIGED 52,

@ n=150kE, BINWLm mOM (n m) 03 b, TROKHL, 2, 32WTLORLICITAY b2
FUFL A TREE 2o 2B 5 A
FfF2 B A TR Y, BB TRBEE B0 ER 6 A
SAES DREB TRIEL A, BIEC TRME Lo BV

(3 n=2m nNEE, B NIGD #e, m, 13 DR (10, 1y 15) DI b, T‘;Eﬂ@%ﬁ:'i,. 5 #dti7e T L DI LI CIEY b 52,

G4 A T o el m A, BB D m A
S5 MEB CBIEL Y, B2 C TRKEE 2o e B v



AB=3, AD=4, AE=1Th6 b0 L J HEHAKABCD-EFGHIc B\ T, 3LCG, CD, AD# ##h #h 1—p:p
0<p<DicHp oz X, Y, Z+x+2, 5X, Y, ZXELFEP L, LE2HA, EZ##2EMENEE, 24E F
EMAEME OB, 24T, GRBIEMEDREE TN, V, W E+5, AB=g, AD =} AR=¢ & LCUT
DEicEL L,

(1) AU, AV, AW a b ¢ #WTEL, U, V, WHEAZILAE, BF, FG Lichs s & baet,:

(2) A UVWXYZ Omiiz e b,

A 7 D
LS v
B A ST S H
b
S X
B W e

T

y=s() =tanz (—F <x<fy —od<y < oo) mulBE y=F(x) = tan'x (06 2 g2, —z
T3, Zorx, LTFoMER k.

I

<y<2

M () tani+ tan T b,

~£d
2

(ii) + tan“% = tan™! % + tan™? % iR 2D L,

tan’
y =" %) DrT 7 OWEEET.
77708 (L ) 1251 280k k.

(i) 2B (tan 2) 2D L,

@) s [

de 2R L.



